
 

 تمرين:

𝐷معرف على  fلدينا التابع  =] − 5,+∞[ 

𝑓(𝑥) =
𝑥 − 3

𝑥 + 5
 

limأوجد  •
𝑥→+∞

𝑓(𝑥) 

limاستنتج  •
𝑥→+∞

𝑓(𝑓(𝑥)) 

limأعد حساب   •
𝑥→+∞

𝑓(𝑓(𝑥)) بدلالةx 

 حل الطلب الأول  

lim
𝑥→+∞

𝑓(𝑥) = 1 

f(x)نفرض   = t 

lim
𝑥→

𝑓(𝑓(𝑥)) = lim
𝑡→1

𝑓(𝑡) = −
2

6
= −

1

3
 

 حل الطلب الثاني 

𝑓(𝑓(𝑥)) = 𝑓 (
𝑥 − 3

𝑥 + 5
) =

𝑥 − 3
𝑥 + 5

− 3

𝑥 − 3
𝑥 + 5

+ 5
 



 

=
(
𝑥 − 3 − 3(𝑥 + 5)

𝑥 + 5
)

𝑥 − 3 + 5(𝑥 + 5)
𝑥 + 5

 

=
−2𝑥 − 18

6𝑥 + 22
 

lim
𝑥→+∞

𝑓(𝑓(𝑥)) = −
2

6
= −

1

3
 

 تمرين:

𝐷معرف على  gلدينا  =]3,+∞[ 

𝑔(𝑥) =
3𝑥 − 1

𝑥 − 3
 

• lim
𝑥→+∞

𝑔(𝑥) 

 استنتج  •

lim
𝑥→+∞

𝑔(𝑔(𝑥)) 

limأعد حساب •
𝑥→+∞

𝑔(𝑔(𝑥)) بعد كتابة

g(g(x)) بدلالةx 



 

 الحل:

lim
𝑥→+∞

𝑔(𝑥) = 3 

𝑔(𝑥)نفرض   = 𝑡 

lim
𝑥→+∞

𝑔(𝑔(𝑥))

= lim
𝑡→3

𝑔(𝑡) =
8

0+
= +∞ 

 Dبحسب +0ملحوظة 

 

 حل الطلب الثاني: 

𝑔(𝑔(𝑥)) = 𝑔 (
3𝑥 − 1

𝑥 − 3
)

=
3 (

3𝑥 − 1
𝑥 − 3 ) − 1

(
3𝑥 − 1
𝑥 − 3 ) − 3

 

= (

9𝑥 − 3 − (𝑥 − 3)
𝑥 − 3

3𝑥 − 1 − 3(𝑥 − 3)
𝑥 − 3

) =
8𝑥

8

= 𝑥 



 

lim
𝑥→+∞

𝑔(𝑥) = +∞ 


